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Q1 Ans E

Explanation:

The statement clearly mentions that fulfilling the eligibility criteria and

submitting the application before the stipulated date are both essential to

avoid rejection. So, I follows. Also, since it is given that the candidates whose

applications are rejected shall not be called for written test, so II also follows.

Q2 Ans C

Explanation:

Q3. Ans A

Explanation:

Clearly, such decisions are taken only after making sure that it will not affect

the

company's business adversely. So, I is implicit. However, the impact of this

increase on other airlines cannot be ascertained. So, II is not implicit.

Q4, Ans E

Explanation:

If the middle digit in all the numbers are removed, it will be as

446 = 46

362 = 32

576 = 56

495 = 45

241 = 21

Minimum number = 21 , 241 is correct answer.

Q5. Ans D

Explanation:

By Analyzing the left side, we can conclude that Adequate is the Antonym of

Meager.By using the same logic, we can conclude that Immoral is the

Antonym

for Condign.

Q6.  Ans D

Q7. Ans E

Explanation:

The phrase 'budgetary provision for the purpose of appointing additional

faculty' makes I implicit. Also, since no budgetary provision was provided for

appointment of faculty in view of certain changed financial priorities, it

means

that some other issues require more financial attention. So, II is also implicit.

Q8. Ans C

Q9. Ans D

Explanation:

Efforts are being made to boost tourism does not mean that tourism has dropped.

So, I is not implicit. Also, the statement mentions nothing about discounts in air

fare. So, II is also not implicit.

Q10. Ans D

Explanation:

Blood relation Analysis : only daughter of my mother -> means herself

Q11. Ans B

Explanation:

By Analyzing the left side, we can conclude that Broken is the Antonym of Rigid

By using the same logic, we can conclude that Disrespect is the Antonym for

Admiration.

Q12. Ans A

Explanation:

Q13. Ans B

Explanation:

From I: it is given that Gauri is 5th to Rakhi but not given left or right

From II: Gini is 2nd from left end, and then rakhi is 6th to right of Gini, so Rakhi is

8th from left end.

So.the data in statement II alone is sufficient to answer the question.

Q14. Ans D

Explanation:

Arrangement is F,K,E,M,J

New Arrangement will be F,J,E,M,K

Q15. Ans B

Explanation:

By Analyzing the left side, we can conclude that Futile is the Antonym of Precocious

By using the same logic, we can conclude that Careless is the Antonym for

Exquisite.

Q16. Ans A
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Q17. Ans B

Q18. Ans B

Explanation:

Some fruits are mangos. All mangos are guavas.

I + A => I - type of conclusion

"Some fruits are guavas". Conclusion II is Converse of it. All mangos are

guavas No guava is a banana. A + E => E - type of conclusion "No mango is a

banana

Q19 Ans A

Explanation:

Z Y X W V U T S R Q P O N M L K J I H G F E D C B A

L is 11th position.

Q20. Ans C

Explanation:

By Analyzing the given analogy, we can infer that in the left side an animal

and the sound it makes is given i.e. bleat is sound made by Giraffes

By Applying the same logic to the right side we can conclude that squawk is

the sound made by Parrots.

Q21. Ans A

Explanation:

By Analyzing the left side, we can conclude that Logical is the Antonym of

Absurd

By using the same logic, we can conclude that Avoidable is the Antonym for

Imminent.

Q22. Ans B

Explanation:

From Analyzing the left side, we can conclude that Stoop is the synonym of

Patronize

By using the same logic, we can conclude that Sorrow is the synonym for

Lament.

Q23. Ans A

Explanation:

By Analyzing the given analogy, we can infer that in the left side an animal

and the sound it makes is given i.e. warble is sound made by Larks

By Applying the same logic to the right side we can conclude that scream is

the sound made by Peacocks.

Q24. Ans C

Explanation:

Given,P denotes +,

Q denotes *,

R denotes / and

S denotes -

and the given expression:18 Q 12 P 4 R 5 S 6

By using correct symbols, we get,

=> 18 * 12 + 4 / 5 - 6

= 210.8

Q25. Ans B

Explanation:

By analyzing the numbers we can find that in the first part, first number is

cubed and added with 1 to get the second number i.e. 20^3 + 1 = 8001

By following the same approach for the next number we get 2^3 + 1 = 8 + 1 = 9

Q26. Ans B

Explanation:

The letters move 3 steps forward.

Q27. Ans E

Explanation:

The letters move 3 steps forward.

Q28. Ans E

Eplanation

Q29 Ans D

Explanation:

7 B

6 D

5 F

4 A

3 E

2 G

1 C

Q30. Ans C

Explanation:

This is the only geographical feature that has a movement.
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(Any doubt about this question call-8515823123 between 10 a.m. to 6 p.m.)

Q31. Ans D

Explanation:

All others are parts of experiment.

Q32. Ans D

Explanation:

Clearly, the owner of the shop should be punished for selling spurious liquor.

Further, attempts should be made to unearth other such unscrupulous liquor

sellers by conducting raids and testing samples collected from different shops.

So, both II and III follow. However, sending the liquor shop owner to another

place may create a problem elsewhere also. So, II does not follow.

Q33. Ans C

Explanation:

By Analyzing the left side, we can conclude that Normality is the Antonym of

Aberration

By using the same logic, we can conclude that Development is the Antonym for

Decay.

Q34. Ans A

Explanation:

From Analyzing the left side, we can conclude that Tyranny is the synonym of

Cruelty

By using the same logic, we can conclude that Ridiculous is the synonym for

Absurd.

Q35. Ans D

Explanation:

Clearly, D’s father is the brother of CS father and Cs father is A’s uncle. So, D’s

father is also A’s uncle. Thus, D is A’s cousin.

Q36. Ans D

Explanation:

By Analyzing the given analogy, we can infer that in the left side an adult name

and its baby name is given i.e. caterpillar is baby of Butterfly

By Applying the same logic to the right side we can conclude that pup is the

baby of Mole.

Q37. Ans A

Explanation:

X is son of Y ; Y is wife of Z

Q38. Ans A

Explanation:

Daughter of brother-in-law - Niece; Mother's niece - Cousin.

So, the girl is the cousin of Rita's friend.

Q39. Ans A

Explanation:

By Analyzing the given analogy, we can infer that in the left side an adult name

and its baby name is given i.e. cub is baby of Tiger

By Applying the same logic to the right side we can conclude that hatchling /

juvenile is the baby of Dinosaur.

Q40. Ans C

Explanation:

Z Y X W V U T S R Q P O N M L K J I H G F E D C B A

Q41. Ans C

Explanation:

By Analyzing the left side, we can conclude that Broken is the Antonym of

Constant

By using the same logic, we can conclude that Admire is the Antonym for

Abhor.

Q42. Ans C

Q43. Ans B

Explanation:

Given,

© ---=

% --- =

# --- >

@ --- =

$ --- <

R # D and D © K, K $ M.

=> R > D= K < M

Statement I . M # R ---> M > R (False)

Statement II. K $ R ---> K < R (True)

Thus, only conclusion II is true.

Q44. Ans A

Explanation:

Given,A is coded as +,

B is coded as -,

C is coded as * and

D is coded as /

and the given expression:8 A 3 B 2 C 24 D 4 C 3

By using correct symbols, we get,

8 + 3 - 2 * 24 / 4 * 3

= - 25

Q45. Ans C

Explanation:

By Analyzing the left side, we can conclude that Honest is the Antonym of

Charlatan

By using the same logic, we can conclude that Common is the Antonym for Quaint.

Q46. Ans B

Q47. Ans B

Explanation:

In this alternating repetition series, the random number 21 is interpolated every

other number into an otherwise simple addition series that increases by 2, beginning

with the number 9.

Q48. Ans C

Explanation:

The odd one is "9 Q A"

In the other options,

Second element = 'First element - 2' positions in the given series

Third element = 'First element + 2' positions in the given series

This pattern is mismatched in the Option "9 Q A", so this is the odd one.

Q49. Ans D

Explanation:

By Analyzing the left side, we can conclude that Calm is the Antonym of

Vehemence

By using the same logic, we can conclude that Retreat is the Antonym for Quest.

Q50. Ans A

Explanation:

Anuj's daughter's mother -- Anuj's wife;

Anuj's wife's father -- Anuj's father-in-law;

Father-in-law's son -- Anuj's brother-in-law.

So, Manish is Anuj's brother-in-law.


